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Directions for Question Nos. 11 to 14 : Choose the sentence, out of the four choices given, that
has been correctly recast. _
11. Being condemned to death, the scaffold was erected for his execution.
(A) As he was condemned to death, the scaffold was erected for his execution.
(B) He being condemned to die, the scaffold were erected for his execution.
(C) If he were condemned to death, the scaffold will be erected for his execution.
(D) He was condemned to have died. the scaffold was erected for his execution.
12. Born in Patiala, a part of his cducation was received in Chandigarh.
{(A) A part of his education was received in Chandigarh, he being born in Patiala.
(B) Born in Patiala, he received a part of his education in Chandigarh.
(C) Having been born in Patiala. he would received a part of his education in Chandigarh.
(D) He was born in Patiala and so he receive a part of his education in Chandigarh.
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13.

14.

Being a wet day, ! wore my mackintosh.

(A) Although it was a wet day. I yet wore my mackintosh.

(B) Despite being a wet day, | wore my mackintosh.

(C) As it was a wet day, I wore my mackintosh.

(D) Though it was a wet day. I yet wore my mackintosh.

Having gone to bed very late, the sun woke me at about nine o clock.

(A) Having gone to bed very late, I was woken by the sun at about nine o’clock.
(B) I went to bed very late and the sun woken me up at about nine o’clock.

(C) Islept very late and it was nine o’clock when I got up.

(D) Though very late at night. [ did wake up at about nine o’clock.

Directions for question Nos. 15 to 17 : Choose the correct mezaning of the ldloms out of the
four choices given.

15.

16.

17.

To make a'pile :

(A) To make a fortune (B) to plunder

(C) to steal (D) to criticize

To nail one’s colours to the mast :

(A) to refuse to surrender (B) to hail one’s victory
(C) to celebrate an occasion (D) to conquer others

To cut someone dead : 7
(A) 1o insult someone deliberately by ignoring (B) to kill someone ruthlessly
(C) to condemn someone (D) to let someone die

Directions for Question Nos. 18 to 20 : Replace the underlined word/words with suitable phrasal
verb out of the four choices given in each question.

18.

19.

20.

21.

22.

Anshu looked at his watch as Parth talked for a long time about his holiday in Australia.

(A) went after (B) held forth

(C) got off (D) pushed over

Nishtha happily agreed with and accepted her friends plan to get a flat together :
(A) keptup _ (B) launched into

(C) fell in with (D) put up

The car stopped working and we had to get it towed to a garage.

(A) broke down (B) broke out

(C) broke into {D) broke away.

on the globe, Punjab is at

(A) 19°30'N to 22°32'N latitude and 55°55'E to 56°50'E longitude

(B) 53°55'E to 56°50'E latitude and 19°30'N to 22°32'N longitude

(C) 29°30°N to 32°32°N latitude and 73°55°E to 76°50°E longitude

(D) 73°55'E to 76°50'E latitude and 29°30'N to 32°32'N longitude

Which of the following statements is most appropriate for Punjab ?

(A) 1.54% of geographical area of India but around 1/3% of foodgrains procured annually in india
~ come from Punjab.
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23.

24,

25.

26.

27.

28.

(B) 1.54% of geographical area of India but nearly 2/3% of foodgrains procured annually come
from Punjab. : "

(C) 2.5% of geographical area of India but around 1/3" of foodgrains procured annually come
from Punjab. '

(D) 1.54% of geographical area of India but around 4/5" of foodgrains procured annually in india
come from Punjab.

Most appropriate statement to describe industrial Punjab is

(A) Punjab has over 1.04 lakh small and medium industries and about 1000 large scale industries.

(B) Punjab has over 1.04 lakh small and medium industries and about 100 large scale industries.

(C) Punjab has over 1.04 lakh small and medium industries and 600 large scale industries.

(D) Punjab has over 3.0 lakh small and medium industries and 600 large scale industries.

On the basis of share of total energy to state of Punjab, arrange the following on descénding

order.

(i) Bhakra Nangal Project (ii) Ropar Thermal Plant

(iit) Guru Nanak Thermal plant Bhatinda (iv) Dehar Power Plant

(A) 2.134 (B) 1,2,3.4

(C) 2.5.1.4 (D) 1,3.4.2

Match the following :

Sikh Guru Contemporary rulers

1. Guru Ram Das Ji (A) Humayun, Shershah Suri and Islam
Shah Surti

2. Guru Har Gobind Ji (B) Akbar

3. Guru Harkrishan Ji (C) Jahangir and Shah Jahan

4. Guru Angad Dev Ji (D) Aurangjeb

(A) 1b,2a, 3¢, 4d (B) la. 2c, 3d, 4b

(C) 1a. 2¢, 3b, 4d (D) 1b. 2¢, 3d. 4a

Which of the following degrees was conferred by Punjab University to Bhai Veer Singh

(A) Doctor of Oriental Leaming (B) Doctor of Philosophy

(C) Doctor of Literature (D) Proficiency in Langauage

Match the following :

Books/Granths Author

1. JungNama (A) Bhai Veer Singh

2. Japji Sahib (B) Shah Hussain

3. Gulab Da Ful (C) Guru Nanak Dev Ji

4. Delhi Diyan Galian (D) Amrita Pritam

(A) 1b. 2¢. 3a. 4d ' (B) 1a.2b, 3¢, 4d

(C) 1b, 2¢, 3d. 4a (D) la, 2¢, 3d, 4b

The water cycle takes place in whlch sphere of atmosphere ?

(A) tropopause .. (B) stratopause

(C) mesosphere (D) troposphere
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29.

30.

31.

33.

34.

(Y]
'h

36.

The official languages of the United Nations are

(A) Chinese. Afrikaan. English. French, German, Spanish

(B) Arabic, Chinese, English. French. Russian. Spanish

(C) Arabic. Japanese. Chinese, English, French. German

(D) Chinese. English. French, Hindi, Japanese, Spanish

The Olympic Flame symbolizes

(A} continuity of games between the ancient and modemn OIymplcs

(B) zeal of participating athletes to win the events

(C) burning of hatred and sending message of brotherhood across the world
(D) none of above

Match the following :
Column | Column II
1. Air-borne (A) Tetanus
2. Water-borne | (B) Tuberculosis
3. Contact ) (C) Cholera
4. Wound (D) Syphilis
(A) 1b,2d, 3c.4a (B) lc, 2b, 3d, 4a
(C) 1b. 2¢, 3d. 4a (D) 1d. 2a, 3¢, 4b

. Match the following :
1. Bimbisara (A) Chola dynasty
2. Pulakesin ' (B) Chalukyas
3. Vikramaditya (C) Magdha
4, Rajaraja B (D) Gupta dynasty
(A) la.2b,3c,4d (B) 1c, 2b, 3a,4d
(C) 1b. 2¢, 3d. 4a (D) 1c, 2b, 3d, 4a
Which Amendment Bill inserted 10th schedule in the constitution of India
(A) 50" (B) 52
(C) 44 (D) 42
Who succeeded Jaya Bachchan as the Chairperson of the Children’s Film Society of India ?
(A) Nutan (B) Madhuri Dixit
(C) Hema Malini (D) Shabana Azmi

. ‘Khetri Project’ in Rajasthan is for the production of
(A) copper | (B) steel
(€C) aluminium (D) zinc
Match the following :
Committees Chairman
1. Disinvestment of shares in public (A) Rajesh Chelliah

sector enterprises

2. Industrial sickness ' _ (B) Onkar Goswamy
3. Taxreforms | (C) R. N. Malhotra
4. Reforms in insurance sector (D) Rangarajan
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37.

38.

39.

40.

41.

42.

43.

(A) la, 2d, 3b, 4¢ (B) 1d. 2b, 3a, 4¢

(C) 1b. 2¢. 3d, 4a (D) 1a. 2b, 3¢, 4d

Bharat Ratna was discontinued on 13th July 1977. In January 1980, Prime Minister Indira
Gandhi decided to revive it. After the revival who was the first recipient ?

(A) Vinoba Bhave

(B) Mother Teressa

(C) Satyajit Ray

(D) Prof. Amartya sen

Which of the following statement in respect of Saka Era (National Calendar) is not correct ?
(A) The Saka Era is 78 years behind the Christian Era

(B) The Saka Era has normal 365 days

(C) The last month of Saka Era is Phalguna

(D) There is no permanent correspondence of Saka Era with that of Gregorian calendar

Match the following :

CEQ/Chairman MNC

1. Rakesh Kapoor ~ (A) PEPSICO

2. Indira Nooyi (B) CETI Group

3. Sanjay Jha (C) Reckitt Benckiser (to take over on 1.9.2011)
4. Vikram Pandit (D) Motorola

(A) la,2b, 3¢, 4d (B) 1d. 2a, 3b, 4¢

(C) Tc, 2a, 3d, 4b : (D) 1b, 2¢. 3d, 4a

Find the correct statement on the basis of Total Medal Tally of India in different games as
given below :

Beijing Olympics CWG Asiad Games
(2008) N. Delhi (2010) Guangzhou (2010)

(A) 4 103 66
(B) 3 101 64
(&) 2 101 - 64
D) 1 97 62
Find the Ietter which occupies 1000th position in following series : _
ABCD......... XYZ/YX........... BA/BCD......... YZ/YX.......... CBA/BCD........ YZ
(A) B B)C
(C) X MY
Amorphousness is to Definition as Lassitude to ............. ?
(A) awareness (B) energy
(C) uniformity (D) companionship
In a certain code CONDEMN is written as CNODMEN. How will TEACHER be wrltten
(A) TAECEHR (B) TCAEHER
(C) TAECHER (D) TAEECHR
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Read the following information and answer Q. Nos. 44-45.

44.

45.

In a tribe village only two types of people live belonging to class A and class B. They are to

obey social norms rigidly. As far as marriage is concerned, following norms are to be followed.

(i) People of class ‘A’ cannot marry any member of their class, though they can marry
members of class B

(i) After marriage the class of male member is automatically changed to the class of his wife

(i) Females, after marriage remain the member of their own class

(iv) On the birth, child automatically becomes the member of mother’s class

(v) If a male member becomes widower or divoreee, then he again belongs to the ciass in
which he was born

{vi) Nobody can marry more than one person

Any class B female can have

(P) grandfather born in Class A

(Q) grandmother born in class A

(A) only (P) can be true _ (B) Only (Q) can be true

(C) both (P) and (Q) can be true (D) neither (P) nor (Q) can be true

Which of the following marriages is not permissible

(A) any girl of class B marries for mother’s brother

(B) any widower marries his wife’s sister

(C) any boy of class B marries his father’s sister

(D) any widower born in class A marries his brother’s widow

Study the following information and answer Q. Nos. 46-47.

46.

47.

18.

There are 7 students A, B, C, D, E, F and G in a class. Each has a different favourite subject
— English, Maths, Physics, Chemistir'y, Biclogy, Sociology and Philosophy. Each student secured
different marks in examination. C has secured second highest marks and neither English nor
Maths is his favourite subject. E secured the least marks and neither Sociology nor Maths is
his favourite subject. Favourite subject of D is Physics and he secured more marks than B
and G but less than A. The favourite subject of B is Biology and his marks are more than the
marks of E but less than the marks of G. The favourite subject of Ais Philosophy. The student,
whose favourite subject is Chemistry got the highest marks.

Chemistry is the favourite subject of

(A) A B)C
(O3 DG
Who got the second least marks 7

(A) C (B)D
G (D)B

A person starts from a point A and walks 3 km east to B and then turns left and walks thrice
the earlier distance to reach C. He turns left and covers five times the distance he covered
botween A and B and reaches his destination D. The shortest distance between the starting
point and destination is

(A) 12 km ' (B) 15 km

(C) 16 km (D) 18 km
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49.

50.

52.

54.

55.

56.

57.

A, B and D form a triangle. B is 5 km towards north east of Aand DisSkmeastof A.Fis 5
km towards east of E. C is 6 km towards east of B. D is 8 km towards west of E. D, G and E
form a triangle. The distance between B and D is 4 km. G is on south-east of D at a distance
of 9 km and from A it is 11 km. H is 4 km south-east of F. H, F and C are on a line with F at
a distance of 9 km in south-east of C. A, D, E and F are virtually on a line. :
What is the shortest distance between B and H .

(A) 18 km (B) 19 km

(C) 20km (D) 21 km

After visiting a house, an inspector gets the following detals of a family. There are : two
fathers, one grandmother, one grandfather, twe mothers, one father-in-law, one mother-in-
law, four children, 3 grand children, one brother, twe sisters, two sons, two daughters and
one daughter-in-law.

How many (minimum) members could be in the family

(A) S B)7
()9 (D) 11
. Which of the following operating is available in free/open source domain ?
(A) Linux (B) SUN Solaris
(C) Windows XP (D) Mac OS
The Column C2 in MS-Excel sheet means
(A) 2nd row, 3rd column (B) C row, 3rd column
(C) 3rd row, 2nd column (D) 3rd row, 3rd column
. To undo your last action in MS-Office, press
(A) Control P (B) Control S
(C) Control N (D) Control Z
Which of the following formulas will MS-Excel not be able to calculate 7
(A) =SUM("Sales™)-A3 (B) =SUM(AIL:A5)*.5
(C) =SUM(A1:A3)/(20-10) (D) =SUM(A1:A5)-10
The file extension for an MS-Access 2003 database is
(A) EXE (B) DOC
(C) EXC (D) MDB

24 men can complete a work in 16 days. 32 women can coniplete the same work in 24 days.
16 men and 16 women started working and worked for 12 days. How many more men are
be added to complete the remaining work in 2 days.

(A} 16 (B) 24

(C) 36 (D) 48

Two cars P and Q start at the same time from A and B which are 120 km apart. If the two cars
travel in the opposite directions, they meet after one hour and if they travel in the same
direction (from A to B) then P meets Q after 6 hours. What is the speed of cars P and Q

respectively. _
(A) 60 km/hr. and 50 km/hr. (B) 65 km/hr. and 55km/hr.
(C) 70 km/hr. and 50 km/hr. - (D) 120 km/hr. and 100 km/hr.
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58,

59.

60.

61.

62.

63.

64.

65.

A sum of money doubles itself at compound interest in 15 years. In how many years will it
* become eight times
“(A) 45 years ~ (B) 40 years

(C) 50 years (D) 25 years

A hemi-spherical bowl is filled to the brim with a beverage. The contents of the bowl are
transferred into a cylindrical vessel whose radius is 50% more than its height. If the diameter
is same for both the bowl and the cylinder, the volume of the beverage in the cylindrical

vessel is :
2 1
(A) 66-3-% ‘ (B) 785%
(C) 100% (D) more than 100% (i.e. some beverage is left)
The last day of century cannot be
(A) Monday or Tuesday or Thursday (B) Tuesday or Wednesday or Thursday
(C) Tuesday, Thursday or Saturday (D) Sunday or Tuesday or Saturday

The Agricultural Prices Commission (1965) was renamed as Commission for Agricultural
costs and Prices (CACP) with a wider scope in

(A) 1984 ' (B) 1985

(C) 1986 (D) 1988

Commission for Agricultural Costs and Prices announces

(A) Minimum Support Prices only (B) Procurement Prices only
(C) BothA&B (D) Neither A nor B

Which is true

(A) Procurement Prices are higher than Minimum Support Price

(B) Procurement Prices are lower than Minimum Support Price

(C) Procurement Prices are equal to Minimum Support Price

(D) Procurement Prices are sometimes higher & sometimes lower than Minimum Support Price
Before announcing the prices of agricultural products, Commission for Agricultural Costs
and Prices take into account

(f) cost of production

(if) prices in previous year

(iii) pric-;s of other material

(A) 1only (B) ii & 111 only

(C) i&iiionly (D) i,iiand iii all

MSP and Procurement Prices are steps of Govt. to

(i) assurance to farmers that price will not be allowed to fall below this level

(ii) provides foodgrains through PDS to vulnerable section of society

(iii) gencrate public revenue

(A) i & ii only are true : (B) ii and iii only are true

(C) ionly is true (D) only 1ii is true
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66.

67.

68.

69.

70.

71.

72.

73.

74.

PUNSUP came into existenée on | B
(A) Feb 14,1975 (B) Feb 14, 1973

(C) Feb 14, 1974 (D) April 1, 1974

PUNSUP was established _ -

(A) under cooperative Act. | (B) under the companies Act. 1956

(C) under Industrial Act. 1948 (D) Under MRTP Act.

PUNSUP procures agricultural products for

(i) central pool (i) for its own reserves

(iii) for sale in open market , (iv) On behalf of other governments and
_ agencies |

(A) i.ii and iii are true | " (B) onlyi is true

(C) i.1i and v are true ' (D) only ii is true

PUNSUP arranges distribution of procured foodgrains etc. through
(i) fair price shops ' ' '

(ii) consumer cooperative stores

(iii) own distribution centres

(A) all i, ii and iii true ~ (B) noneis true

(C) i & ii only are true (D) ii and iii only are true
Which of the following statement is true ' '
(A) Punjab has 76 tehsils and 177 blocks

(B) Punjab has 147 tehsils and 76 blocks

(C) Punjab has 76 tehsils and 141 blocks

(D) Punjab has 141 tehsils and 76 blocks

Kissan Krishi Vikas Yojna is :

(A) 100% sponsored by state govt.

(13) 100% sponsored by central govt.

(C) 30-50 sponsorship central and state-govt. -

(D) 10% and 90% sponsorship centre and state govt. respectively

Kissan Call Centres have been functional in the state of Punjab and all over India since

(A) 21 Jan 2004 (B) 21 Jan 2005
(C) 21 July 2004 (D) 21 July 2007
Which of the following cities are situated on the banks of the river Beas
(A) Dasuya and Mukerian ' (B) Dhilwan and Kapurthala

(C) Goindwal Sahib and Sultanpur Lodhi (D) Sri Hargobindpur and Taran Taran
Which of the following statements is not true, regarding purchases by PUNSUP through
Katcha Arhtias S ' o
(A) Katcha Arhtias act as commission agents on the behalf of corporation
(B) the commission for their services as per scales;is:approved by M.D. -
(C) they are paid only commission on their purchases.
(D) they submit their claims in triplicate "
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75.

76.

7.

78.

79.

80.

81.

82.

Which of the following statement/statements is not true regarding PUNSUP
(i) it'is nodal agen.cy for Atta-Dal scheme of state

(ii) it has 8 Apna Bazar/showrooms for providing daily use commodities
(iii) it has 8 LPG sales outlets in the state

(iv) it is the only agency supplying pulses to Army Purchase Organization

(A) iandii ~ (B) onlyiii

(C) bothiii & iv (D) only iv

What type of climate of the following, Punjab falls in

(A) mediterranean type (B) wet equatorial type

(C) savanna type (D) sub tropical type '
PUNSUP’s share in total procurement of wheat and paddy in Punjab is around .
(A) 20% (B) 30%

(C) 15% (D) 35%

Punjab consumes what percentage of fertilizer consumption of India

(A) 3% (B) 9%

(O) 1% D) 15%

For storage accommodation, PUNSUP depends on

(i) PUNSUP has its own open storage

(ii) hires from private parties

(iii) it hires from warehousing corporations

(iv) it has its own covered storage ‘ :

(A) onlyiand iv are true : (B) only ii and iii are true

(C) only i, 1i and iii are true (D) all are true

Which is/are of the following not true for PUNSUP . -

(i) it is nodal agency for distribution of food grains under Mld-Day-Meal Scheme.

(i) it has a Diesel Pump at Jalandhar _

(iiii) it carries its transportations activities on hired vehicles after proper allocation of jobs to
various transport agencies.

(iv) it is nodal agency for PDS in the state

(A) i and iii (B) onlyiii
(C) onlyii (D) onlyiv
What percent (nearly) of cropped area in Punjab is covered with pulses
(A) 19.08% (B) 22.08%
(C) 21.01% (D) 15.08%
- A Field Officer

(A) is above inspectorate staff and DDM (erld)

(B) is above inspectorate staff, below DDM (Fleld)

(C) is directly answerable to District Manager

(D) is directly answerable to District Regional Manager
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83.

84.

85.

86.

87.

88.

89.

90.

91.

Grade of a Field Officer to be recruited is-

(A) Rs.10300 — 34800 G.P.4200
(B) Rs.10300-34800-. - . - G.P. 3800
(C) Rs.10300 — 34800 G.P. 2800
(D) Rs.10300 - 34800 G.P.3600

Under Atta-Dal Scheme,the beneficiaries are given

(A) Atta @ Rs.4/- per kg. Dal@ Rs.20/- per kg. 35 kg of wheat per family

(B) Atta (@ Rs.5/- per kg, Dal@ Rs.20/- per kg, 35 kg.of wheat per family

(C) Atta @ Rs.4/- per kg, Dal@ Rs.20/- per kg, 30 kg of wheat per family

(D) Atta @ Rs.4/- per kg, Dal@ Rs.15/- per kg, 35 kg of wheat per family ~

Which is.wrong about PUNSUP and MARKFED ?

(A) PUNSUP and MARKFED both are fully Government owned

(B) PUNSUP is fully Government owned and MARKFED is marketing cooperative

(C) PUNSUP is nodal agency for PDS in Punjab and MARKFED is Asia’s largest marketing
cooperative '

(D) Both PUNSUP and MARKFED represents the interests of farmers of Punjab

Punjab Chicf-Minister launched populist Atta-Dal Scheme on 15th August 2007 at

(A) Jalandhar (B) Patiala '

(C) Amritsar (D) Ludhiana

Farmer’s Welfare Scheme for farmers in Punjab |

(A) introduced on 1.1.2010 and valid upto 1.1.2017

(B) introduced on 15.8.2007 and valid upto 1.1.2017

(C) introduced on 1.1.2008 and valid upto 1.1.2017

(D) introduced on 1.1.2008 and valid upto 1.1.2012

Which of the following is not true regard:ng the Farmer’s Welfare Scheme in Punjab ?-

(A) itinvolves gift coupons

(B) it involves draw of prizes for each market comrmttee ‘

(C) draw of prizes are twice a'year

(D) it assures prizes to all participating farmers

National Food Security Mission was introduced in Punjab during

(A) 2007-08 (B) 2009-10
(C) 2006-07 (D) 2008-09
Maximum productivity of rice is in which district’* ©

(A) Fatehgarh Sahib (B) Amritsar
(C) Ferozepur : (D) Sangrur

While hiring a godown for storage accommodatlon, which of the following be avoided ?
(A) near to mandi and railway station o

(B) in approximity of poultry farms

(C) pacca built, pacca floor, pacca roofs that do not leak S

(D) keeping in view requirement, godown with larger capacity be selected .

VA3



92. The formula for calculating the capacity of a godown in towns for stacking to 15 bags

93.
94.

95.

96.

97.

98.

99.

100.

height is

(A) ground area of godown is sq. yards x 2 — 10%

(B) ground area of godown is sq. yards x 2~ 15%

(C) ground area of godown is sq. yards x 2 — 8%

(D) ground area of godown is sq. vards x 15— 10%

Which district of the following is on the top in using tube well as source of irrigation ?

(A) Amritsar (B) Bathinda

(C) Sangrur (D) Ferozepur

How many National Hlﬂhways pass through Punjab '

(A) 13 - (B2

(C) 14 (D) 16

For proper quality control during storage in godowns, which of the followings must be ensured ?
(i) no leakage : (if) drainage in perfect condition

(iii) disinfestations " (iv) security and fire fighting arrangements
(A) all the four (B) onlyi,iiand i

(C) onlyiii (D) onlyiandii

While drawing stacking plan for long period godown storage, one should avoid ?

(A) block stacking ~ (B) cross stacking

(C) simple stacking . (D) stacking in such a manner that the bags can

easily be counted

Which of the following is not true regarding PUNSUP procurement for the Central Pool ?

(A) Stocks meant for Central Pool are procured by PUNSUP with its own funds

(B) PUNSUP realizes procurement price actually paid and incidental changes from FCl after stocks
are sold to FCI for the Control Pool

(C) Incidental charges are settled by Punjab Government and Central Government

(D) PUNSUP receives advance grants from Central Government for the purpose

Which of the following is not true regarding the sale of stocks by PUNSUP ?

(A) payment is realized in advance from the depot holder

(B) sale to mills on letter of credit

(C) commercial sale is totally banned by PUNSUP

(D) sale to other governments, the terms and conditions mutually agreed by Head Office of PUNSUP
and-purchasing government.

Which of the following statement is not true regarding the process adopted by PUNSUP for

converting paddy into rice ?

(A) by means of custom milling

(B) by the rice mills located in the state only

(C) through inviting tenders from rice mills on rate and quantities to be shelled by the mills.

(D) tenders are invited to encourage the competition among mills '

In June 2010 sandstones and sand were found in the bags of wheat while loading in a goods

train from a PUNSUP godown in

(A) Amntsar ' (B) Mansa

(C) Ferozepur - _ (D) Nawanshehr

V(A)14
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